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Attempt five questions in all, selecting
at least two questions from each Section.

All questions carry equal marks.
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SECTION A (@vs ‘31’)
1. Examine the following Statements :

(a) Supply creates its own demand. 9

(b) Effective demand determines the equilibrium level

of income. 11
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2. (a) Explain the working of Investment multiplier and
show its relationship with Marginal Propensity to

consume. 4

(b) What will be the incremental income when
Investment is increased by Rs. 200 crores, given
that the MPC is 0.8 ? 16
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3. What do you understand by value of money ? Do you
think that changes in money supply will always lead to
a direct and proportional change in the price level ?
Explam . 20
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4. (a) Explain the concept of inflationary gap with the
help of a diagram. 9

(b) “The economic effects of inflation are not identical

for all sections of the society’. Discuss. 11
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5. Explain the following :

(a) Paradox of thrift.

(b) Transaction demand for money.

(c) Money and near money. 7, 6%, 62
e Ft e it
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SECTION ‘B’ (®vs ‘T’)

6. Explain the process of credit creation by a commercial
bank assuming a primary deposit of Rs. 500 crore and a
cash reserve ratio of 10%. How can the instrument of

bank rate be used to control credit 7 9,11
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7. Discuss the functions of Reserve Bank of India with
special reference to controlling prices. 20
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8. “The incidence of a tax is divided between buyers and
sellers in the ratio of elasticity of supply to the elasticity
of demand.” - Dalton. In this context explain the
incidence of per unit tax under perfect competition. - 20
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9. What do you understand by fiscal policy ? Discuss the
objectives of fiscal policy in a developing economy. 20
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10. Write notes on : _ 10,10
(a) Canons of Public Expenditure.
(b) Characteristics of a good tax system.
fore w feoafort fafiaR -
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